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(7 x 1 000) +(3 x 100) +(4 x 10) + 2 = ……………

(6 x 1 000) +(8 x 100) +(2x 10) + 8 = ……………

(9 x 1 000) +(2 x 100) +(7 x 10) + 5 = ……………

(2 x 1 000) +(6 x 100) +(2 x 10) + 3 = ……………

(1 x 1 000) +(4 x 100) +(6 x 10) + 7 = ……………

(8 x 1 000) +(7 x 100) +(9 x 10) + 2 = ……………

(5 x 1 000) +(5 x 100) +(5 x 10) + 5 = ……………

(3 x 1 000) +(4 x 100) +(5 x 10) + 9 = ……………

(2 x 1 000) +(7 x 100) +(9 x 10) + 9 = ……………

(5 x 1 000) +(4 x 100) +(2 x 10) + 7 = ……………

2

(4x10) + 8

1 000 +    200 +    40 +   8 =  1 248
(2x100) +(1x1000) +

(9 x 1 000) +(8 x 100) +(9 x 10) + 8 = ……………

(5 x 1 000) +(7 x 100) +(3 x 10) + 5 = ……………

(6 x 1 000) +(2 x 100) +(3 x 10) + 4 = ……………

(9 x 1 000) +(1 x 100) +(1 x 10) + 6 = ……………

(1 x 1 000) +(2 x 100) + 1 = ……………

(7 x 1 000) +(3 x 100) +(5 x 10) + 7 = ……………

(1 x 1 000) +(3 x 100) = ……………

(6 x 1 000) +(7 x 100) +(0 x 10) + 2 = ……………

(3 x 1 000) +(4 x 10) + 8 = ……………

(8 x 1 000) +(7 x 10) + 6 = ……………

(9 x 100) +(3 x 10) = …………….……

(7 x 100) + 5 = …………….……

(6 x 100) +(1 x 10) + 5 = …………….……

(1 x 100) +(5 x 10) + 7 = …………….……

(2 x 100) +(5 x 10) = …………….……

(3 x 100) +(3 x 10) + 8 = …………….……

(8 x 100) +(6 x 10) + 8 = …………….……

(7 x 100) +(1 x 10) + 7 = …………….……
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(9 x 100) +(3 x 10) = 930

(7 x 100) + 5 = 705

(6 x 100) +(1 x 10) + 5 = 615

(1 x 100) +(5 x 10) + 7 = 157

(7 x 1 000) +(3 x 100) +(4 x 10) + 2 = 7 342

(6 x 1 000) +(8 x 100) +(2x 10) + 8 = 6 828

(9 x 1 000) +(2 x 100) +(7 x 10) + 5 = 9 275

(2 x 1 000) +(6 x 100) +(2 x 10) + 3 = 2 623

(1 x 1 000) +(4 x 100) +(6 x 10) + 7 = 1 467

(8 x 1 000) +(7 x 100) +(9 x 10) + 2 = 8 792

(5 x 1 000) +(5 x 100) +(5 x 10) + 5 = 5 555

(3 x 1 000) +(4 x 100) +(5 x 10) + 9 = 3 459

(2 x 1 000) +(7 x 100) +(9 x 10) + 9 = 2 799

(5 x 1 000) +(4 x 100) +(2 x 10) + 7 = 5 427
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(4x10) + 8

1 000 +    200 +    40 +   8 =  1 248
(2x100) +(1x1000) +

(2 x 100) +(5 x 10) = 250

(3 x 100) +(3 x 10) + 8 = 338

(8 x 100) +(6 x 10) + 8 = 868

(7 x 100) +(1 x 10) + 7 = 717

(9 x 1 000) +(8 x 100) +(9 x 10) + 8 = 9 898

(5 x 1 000) +(7 x 100) +(3 x 10) + 5 = 5 735

(6 x 1 000) +(2 x 100) +(3 x 10) + 4 = 6 234

(9 x 1 000) +(1 x 100) +(1 x 10) + 6 = 9 116

(1 x 1 000) +(2 x 100) + 1 = 1 201

(7 x 1 000) +(3 x 100) +(5 x 10) + 7 = 7 357

(1 x 1 000) +(3 x 100) = 1 300

(6 x 1 000) +(7 x 100) +(0 x 10) + 2 = 6 702

(3 x 1 000) +(4 x 10) + 8 = 3 048

(8 x 1 000) +(7 x 10) + 6 = 8 076


